Chapter 20






Pyruvate ( Krebs cycle ( Burned for energy.

· Amino acids ( <-keto acid
Glucose or Ketone body ( Burned for energy.

· Amino acids are three groups depending on the intermediate produced during their catabolism:


3) Amino acids that give both ketogenic and glucogenic intermediates (4). 
· Acetyl CoA cannot give Glucose.
















1) Amino Acids





Pyruvate





Krebs intermediate





Oxaloacetate





<-ketoglutarate





Fumarate





Succinyl CoA





2) Amino Acids





Ketone body





Ketone body intermediate





Acetyl CoA





Acetoacetyl CoA





Glucogenic (14)





Ketogenic (2)





Asparagine





Aspartate





Glutamine (Glutarate)





Proline





Arginine





Histidine





Alanine





Serine





Glycine





Cystine ( Cysteine





Threonine





Triptophan





Phenylalanine





Tyrosine





Oxaloacetate





<-ketoglutarate








Pyruvate








Fumarate








Leucocytic cells divide a lot and use asparagine found in the patients blood so we give the patient asparaginase and degrade asparagine to kill the leucocyte cells.





Deficiency of folic acid caused by a deficiency of tetrahydrofolate causes an increase in FIGIu after histidine ingestion ( Increase FIGIu in urine, and FIGIu excretion test is used to diagnose deficiency of folic acid.





Difference between serine and glycine is a hydroxymethyl group, and the carrier is methylenetetrahydrofolate.


Which amino acid give two glucogenic intermediates?


( Threonine.





Q. Phenylalanine and Tyrosine are both ketogenic and glucogenic because they form? Fumarate and acetoacetate.








